
SECTION B (ANSWER ANY FOUR QUESTIONS - All questions cany equal marks)

The drawing shows the flaps 'P' and ,QV of a
symmetrical ornamental hinge.
The flaps of the hinge are positioned as at Fig. la .
(i) draw the given elevation and
(ii) complete the elevation when the second flap 'Q'

is opened to 135° as shown in Fig. lb
(ignore the hinge thickness )•
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Fig. lb
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Fig. 2a

Fig. 2a shows the outline projections of a coal
scuttle.
Draw the surface development of the scuttle
ignoring the handle Scale 1:10

Fig. 2b shows a rectangular prism with points A
and B at cither end.
Determine graphically the shortest line on the
surface between A and B.

Fig. 2b 1
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(a) Fig. 3a shows the outline of an emblem
based on a parabola and an ellipse.
Draw the emblem full size.

In Fig. 3b A-B is the major axis of an
ellipse and P is a point on the curve.
Draw the upper half of the ellipse and
construct a tangent to the curve
from the point S.
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Figure 4 shows the outline
projections of the base socket
for a cordless electric iron.
Make a true isometric
projection of the base using
either an isometric scale or
axonometric axes method.
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<r,© The exploded outline isometric drawing of a food mixer stand is
shown in figure 5

Draw the plan, elevation and end view of either the ftrm'T' or
the base 9S9 of the stand. Hidden detail need not be shown.

Scale 1:2
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IPENTA(S€)N

Fig. 6a

Figure 6a shows the trademark of the
'Pentagon' sports goods company.
It is required to draw the outline of the
trademark so that line A-B is 35 mm
longer than the side of the pentagon.
Draw the required pentagon.

O

Figure 6b is subject to transformations in the following order.
(i) Translation, (ii) Axial symmetry and (iii) Rotation clockwise through 50°.
A(i), A(ii), and A(iii) show the positions of corner A under these transformations.
Draw the figure in these transformations.

A 10mm grid
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Fig. 6b
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